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425 | TahvT
426 |HIVRTT
427 [T "L 35| 1,429 1,464
428 | 7= )7 HNT 48| 2,176 2,224
429 [~NoRLTEL ATV 870 870
430 (A R¥H LT
431 |7V ¥ AbaE 223 223
432 | 73T R
433 |[H— 3N 350 350
434 A9 Iv 8.8 8.8
435 BV I AF )L
436 | TV T 7 —AFI)VAF L
437 |3—AF )NTF AT ra/XJ—)
438 [ AFILFTHL L 68 66 6.1 0.017 140
439 [3—AF LBV

1—AFI)L—1—Tz=)LF L=k~
40 | Sk 0.17 0.17 0.34
441 2— (1—AFNLTHEN) —4, 6—=}u

Jx/)—)b
442 | AFa=)L 60 60
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443 | AV 3.0 3.0
444 |N)7 oL Ak 12 12
445 [ IR DAF )L 1,064 1,064
446 |4, 4’ —AFL U7 =)
47 AFLUER(4, 1= 7a~doly) =
AT F—h
AFLUER(4, 1—Txz=L ) =AYy

448 5k 111 1.1 112
449 | T2 AT 4T 7
450 |7 FHLT 1,034 1,034
451 |[2—ARFL —5—AF LT =Y
452 2= ANVAT IR F T —)L 215 215
453 | BV T R OZFDILEY 5.5 4,684 0.59 4,690
454 12— (BNVHRN I OFH) XU F T — ) 3.2 3.2
455 |F/LARY 61 449 510
456 |DAALT LI= 4 55 55
457 |7 a)LR A 4,166 4,166
458 [VAPBER A (2 — 2T )L ~F L)
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460 | AEERNIRY L 13 13
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